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L f)x2f(-1) =1x2x2=4
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D 1 @ 2 ®)3
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f(2)=3x2-3=3




QRG-S y = £(x) A F(x) = -3x+39 W, £(2)+£(-2) €] BHL2
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L F@)+f(-2) =6
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Al I} S Aol A whln g Aeurg Al
=-x+6 NONE
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y=2x+9 @

7T=-a-6
a=-13
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,OlE y=ax-6°f tidot] EH
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AN y=x+1, y=3x—1Ly=2x+a 7} HoA vty
o, a o] & FLotH?

-2 @1 G @ 1 ® 2

x+1=3x-1,2x=2,x=1 .. (1, 2)
2=2+a ..a=0
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8. o IH™lAM A G= aABCO FAFAHCIAL AD = 18cm & ],
HG 9] Zo]=?
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@ 2cm @SCm ® 4cm @ 5cm ® 6cm
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AF — BF , AE — CE°|5.2 FE//BC

AH:AD=AF:AB=1:2°]22 AH= m)

=9(c
2
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A G = AABC 9] EAEAolBR2 AG = —AD = - x 18 =

12 (cm)
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9. the 1A A G £ aABC o FAF oItk BC = 24em 2 u,
AD o Zolg vt2A 73 227
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A D £ BC 9 $3°|EE AGBC 9 4|t
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- AD =3CGD = 3x 12 = 36 (cm)




